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51 B A 49| 47 96| 24.0] 72.0] [66% KA #F— 40| 46 86 8.4| 77.6
613z AR # 38| 39 77 48| 72.2| |671x XTI R— 39| 40 79 1.2| 77.8
715 Bl AEE 42| 39 81 8.4| 72.6| [68%L FE BR= 50| 47 97| 19.2[ 77.8
841 B IER 41| 40 81 8.4| 72.6] [69% gk IEA 49| 48 97| 19.2] 77.8
941 ET 48| 45 93| 204 72.6] [70% mA E 54| 49 103| 25.2| 77.8
10431 BiE 43| 43 86| 13.2| 72.8] (714 ® FE 51| 45 96| 18.0] 78.0
1141 AR 42| 43 85| 12.0] 73.0] [72%% A& TRRER 54| 48 102| 24.0] 78.0
12431 TR & 42| 47 89| 15.6| 73.4| [73f BAR  BH 54| 54 108 30.0] 78.0
13431 INEF RS 40| 42 82 8.4| 73.6] [74f gk FHah 51| 49 100 21.6] 78.4
14431 hh BZ 42| 40 82 8.4| 73.6] [75% JIE IFi§ 51 49 100 21.6] 78.4
1541 FE BX 44| 44 88| 14.4| 73.6] [76ft EH £t 48| 45 93| 14.4] 78.6
16431 BiE  FAER 45| 43 88| 14.4| 73.6| (774 neE & 51| 42 93| 14.4]| 786
174 A AT 41| 40 81 7.2| 73.8] [78%t B A 51| 54 105 26.4] 78.6
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3143 Ak EA 41 45 86| 10.8] 75.2| (921 B ELX 47| 47 94| 13.2| 80.8
324i 2% —HB 50| 47 97| 21.6| 75.4] [93% gai i 43| 41 84 2.4] 81.6
33{iz I 49| 48 97| 21.6| 75.4] [94% hi EfE 52| 48 100 18.0] 82.0
344 R BN 42| 42 84 8.4| 75.6] [95%t I ABH 56| 53 109| 26.4] 82.6
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4341 R Bt 48| 45 93| 16.8] 76.2| (10442 |BIL FE 60| 64 124]  30.0] 94.0
44431 Hd  Fi 46| 53 99| 22.8| 76.2
45431 ME H— 51| 48 99| 22.8| 76.2
46431 R B 42| 44 86 9.6| 76.4
471 B = 46 46 92| 15.6| 76.4
48431 HiEl =A 46| 52 98| 21.6| 76.4
49431 IND FE— 43| 42 85 8.4| 76.6
501z HME E= 49| 48 97| 20.4| 76.6
514 =4 51| 46 97| 20.4| 76.6
524 Fi EB 47| 43 90| 13.2| 76.8
53{iz Fl EZ 44| 46 90| 13.2| 76.8
54{i HE Z#HEB 45| 44 89| 12.0] 77.0
55{iz e Fi= 44| 45 89| 12.0] 77.0
561z %R BC 51| 44 95| 18.0] 77.0
5741 PN 47| 48 95| 18.0] 77.0
581i fEE  FAER 46| 41 87 96| 77.4
591{iz N R 46| 47 93| 15.6| 77.4
601z EEN S 49| 44 93| 15.6| 77.4
614z ANE B 49| 44 93| 15.6| 77.4




